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BIOLOGY

1. 35 #8903 oonss eabddra eu;gagt deSo 4. 20T SToIG 320D IA200PTOCID

2,080 ERemos* K083, ¢8%533 7
§ DNA mvz{p NFeRWron uTog SES

(A) @Fofeogs

RIRQ, O wrhcd  =REoneR)
(B) & pees

Tor, &R0TT. B FINS cdneS SEOL
©) ==,

QOIT YR IHOCDBTEY ?
(D) tgdmha‘

(A) 803y U8 Beonicd

2. Fpemdoieer weSBeesnvd DNA
T390 §,030030 VBT ITIORAOT

s g et (©) o Soeasoried
(A)  seories’ 3,80° '

(B) wordewx* 3o,80°
(C) Twegm3cf
(D) & 80 5. %om® m-RNA odod &g cdngycde

(B) 8eG0 gnes

(D) DecHoF Swd

deondd FoBeSneers ) 900 TTRTSY
3. TISII JoZwd odeexd (HGP)

Boodd. OT030E  RoBIFEY,
e0D  BoFwb SR,

30,000 SoZwbntd TTTFOD m-RNA o% aaﬁ% ed%dm eﬁ;ﬁv‘&g
0BROONG. Y SIeor3o2o0l edd Rodesxodcs 2 ‘
BT ST Foss, k) ?
(A) 242 SoBswoknisd (A) 299
(B) 2898 Sodwmodorisd (B) 450
(C) 2968 SoBmotorish (C) 900
(D) 231 SoBokrich (D) 300
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BIOLOGY

Which of the following amino acids is 4. In a crime investigation, the
coded by Single Codon ? investigating officer collects different
(A). . Phenylalanine biological samples from the crime
(B). Tryptrhe spot for DNA Finger - Printing Analysis.
C) Vali
s i35 Which of the following samples is not
(D) Tyrosine R '

helpful in this analysis ?
In Prokaryotes, the transcription of (A) Erythrocytes
DNA is initiated with the help of (B) Hair Follicle
(A) Elongation factor
(B) Termination factor (C) Skin Shreds
(C)  Rho factor (D) Semen Sample
(D) Sigma factor
According to Human Genome Project 5. A mature mRNA consists of 900 bases
(HGP), the total number of genes in without any stop codon in between.
human genome is estimated at 30,000, Cotculatenthe siinbex of amigo ackds

coded by this mRNA during
the number of genes present on .

translation.
Y-chromosome are

(A) 299
(A) 242 genes
(B) 2898 genes L e
(C) 2968 genes (€ 900
(D) 231 genes (D) 300
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&5 10. 3R TIPees, DDT ooy wwRend

T, BeBFHPoTTE, T3 %033,
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MTRBY, MW LRI T, %009
RogeRTIE 8,050 (PAR) Homomsmon (A)  TEID Sk SO, FMC.
DBTEoT BevR T, oed ‘a"'"‘i, 9 (B) @d@ﬁd@_, QO0TROAD Jper

PAR 32 - 10% =n3 " At
A) PARS2- :
) i (©) ®Yisd 3y 188 weariont Boord
(B) PAR 330 - 40% =73, TR
(C) PARS10-20% =%3, (D) mgnsb aw Sedneq, wadyen
SDOTTF DOOSE WIE).
(D) PAR S0 -10% =»3, °
11. 33 N3 RS Tooseow &OTD e
-

8. 2 FPT Roogmnt Dowopamed ST, Btz evo> 54
SEIT 10088 ATRFB[) oento -~ i
Lleleneloply g (A) ooeQOez?

(A)  sc3nedn wTons B) artoriom

(B) =R e ToTs

©) o Zanses Wil o e

(D) 2B z:Se3 (D) OaRICDH
Space For Rough Work

Biology

A-1



Which one of the following ecosystem 9. Which one of the following human
has the highest annual net primary activity =~ has  contributed to:
o deforestation in north-eastern states of
productivity ?
India ?
(A) Tropical deciduous forest (A) “Industiialisstion
(B) Temperature evergreen forest (B) Jhum cultivation
(C) Desert (C) Urbanisation
(D) Tropical rain forest (B); " Mono crgping
10. In an area where DDT has been used
Of the total incident solar radiation the extensively, the population of birds
percentage Photosynthetically Active declined significantly because —
Radiation (PAR) captured by the plants (A) Birds stopped laying eggs.
(A) 2-10% of PAR only (B) Eartl.1worms in the area got
eradicated.
(B) 30-40% of PAR only (C) Birds became vulnerable to
(C) 10-20% of PAR only predators.
(D) 0-10% of PAR only (D) Many of the eggs laid by birds
showed pre-matured breaking.
11. Which of the followi tozoan
The historic convention related to c- e c'>wm-g 4 09
conservation of biological diversity is Parusitos catacs sloping Heknige’
also known as (A) Entamoeba
(A) Kyoto Protocol
(B) Trypanosoma
(B) Montreal Protocol
(C) Earth Summit (€) Plasmadion
(D) World Summit (D) Leishmania
Space For Rough Work
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12.

13.

8 FINS W,TYTOT Bewosso3d (Body

cavity) CIRE S03T 9, £ INTQTOII 2

(A)
(B) sorwd gramo3ned
(C) STwodzTo3nsd

(D) oo Tosbrisd

Wews Jpedod B, 1R Wrjmried
QRN T, SIS ?

(A) 26N P TRsL

(B) 2eond P T3, rish

(C) wean@ eows30e

(D)  2eNs Pemoe

14.

15.

eRBochned,  HecIoS oYY,
St Iy FoFTD IS
R B,Z) IO, BEE, §o0

(A) ReOR 373 BryTIS

(B) =ocsoroed aioxéé wotde Oed
[T,

(€) =odordrs Toad wode Oed
T3S

(D) TIINIY SOEIONTIS

8 dor ReBLI WITY, ‘M’ 20
ROTHEXTOR NS, B IRR. -

M

(A) g3esdndneot
(B) =Ly
©) Ba=nt
(D) Rordr,Q00h0f
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12. Which of the following phyla possess
body cavity as shown in the diagram

below ?

(A) Porifera

(A)
(B)

©)

D)

14. The trees growing in temperature
regions show clear demarcation
between spring wood and autumn
wood. This is because

The water stress is more.

The climatic conditions are not
uniform throughout the year.

The climatic conditions are
uniform throughout the year.

The temperature is high.

15. Identify the part labelled as ‘M’ in the

di iven below :
(B) Coelenterata SNIFISR BP0 Doy
M
(C) Annelida
(D) Aschelminthes
13. Testa and Tegmen of the seed coat
represent
(A) Dried Sepals
(B) Dried Petals (A) Kinetochore
(B) Satellite
(C) Dried Integuments
(C) Chromatid .
(D) Dried Tepals (D) Centromere
Space For Rough Work
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16. B0w030 FF,NVT FoLoRPTOS 85 FINS

O3RE 203 T,03RemTT00DY ?

(A) TomRoNE 2eBITING  edI
SBOCWTONRY, R SRRIT.

(B) 35000 ToIom  IWRERY
TR

(©) =zn D03 (A [ove)
RO, FRIY, TIPS

(D) omood Fpe@n  SPOBIY
R

17. S0 wxdved eod BoTIND FYeod
&IT TOT, T ST BT At
Al  ohwrdd TnREROB),
TorRRITIN [I0DTE Y DE
HIZNIR,  BcRORETRT. /D B
&, 8,031 LVTBTBCINS.

(A)  wodeemdgont
(B) wodnedandcdess®
(C) wodneesionr
(D) wodeedy

18. evgodmoandd, B IORTRIY
JeTE  ToTIRT  TRONS  SDTTRTE,
SRNOeeeN WRTSE. 81 Dedod

19. S8 Tewd (A) : W33 wedoko IF
Bows  TE3TY, DWEXF  AFERY
oS

5080 (R) @ Bcd Stdond 388 ednon
TOUWTLITNID SNBSS,

(A) (A) Teod TOIRNS DR (R)
5038 30CIRE DITHEIING.

(B) (A) =3 (R) «0@e XOoIRNT
s38 (R), (A) # Zocind
DITBORE) .

(©) (A)R0cIRNS, (R) ITNS.

D) (A) &3 (R) 0B SN,

20. #$r me.gdcba Bogeaner 0 BeoH=
e Nored eosarssﬂm faolent

s wtd +0

Tye3,0 SpedRoT z%cé)riﬁagl &oert (A) TowRs X ZEtems
lelevelopra b ind
(A) DoDod,srisd (B) ToRmSvews Ttesvcws ey ota
(B) o0Bernisd (C) Boosvowd G TogeRoows
(C) en3: oo, Fned
(D) ema;ﬁ el 22emied (D) ToXoesvowsd IgF o edeas
Space For Rough Work
Biology A-1



16.

17.

18-

Which of these is not an advantages in
Genetically modified crops ?

(A) Reduces the reliance on chemical
pesticides.

(B) Increases the post harvest losses

(C) Increases efficiency of mineral
usage in plants.

(D) Enhances the nutritional value of
food.

Some multinational companies have
exploited the traditional knowledge of
the indigenous people to produce
commercially important bio products,
without their consent. This is an
example for

(A) Bioprospecting
(B) Bioremediation
(C) Biopatent
(D) Biopiracy

In Amphibians and reptiles, the body
temperature changes corresponding to
external temperature. The organisms
which show this kind of response is

termed as —

(A) Regulators

(B) Conformers

(C) Partial Regulators
(D) Thermophiles

19.

20.

Assertion (A) : The Monarch

butterfly feeds on poisonous weeds

during its Caterpillars stage.

Reason (R) : It helps butterfly to
become distasteful to its predator.

(A) (A) is true and (R) is its correct

explanation.

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(C) (A)is true, (R) is false.

(D) Both (A) and (R) are false.

From the given options, identify the
correct combination of population
interactions that correspond to the

symbols given here

++ - +0

(A) Predation Competition Commensalism

(B) Mutualism Parasitism Amensalism

(C) Parasitism Competition Mutualism

(D) Mutualism Competition Commensalism
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21.

22.

W8 o3, cemTEnent JowoHrmod
BTNTOT TePBRIZY, ROTOSK.

(A) RoZeaZ QeBITINS Mm

BedoRevRieo oIS,

(B) o ROcOQE e@s  wednd

Boed TOFITD VPO .

(C) e @39nd ek cdeyde
aaam:is adomﬁ:ﬂ#a‘»gt

WeTOF0E, .

(D) o HORTRFFmeN AT wondds

3, TeBNT, WS OTJITTNT.

W) gD IF  Pedoody, To)
oINPT ToRRCRNT  MRWTNI)
QT03TTN WHREROT) WORTT. absa.ga
33, FoSBonI IEBRR TT
SO0 ABAIY, Wd  ew3F

23.

24.

omING 3TR,T R A0,

2eDT,3B0e®  WoTBeolnisd ﬂaﬁ%

SVTOR0TTONT.

(A) =0T Rocdeeesnd vk

(B) REN o007 wo®ss Qyns

(C) ©83ecd et Todeod
HoBod o IFed

(D) e&83ecd BeIBReBNeR),
IROBPFREEDIO

SRBFQE dedeor, 008 DNA oy
swg 3oy woHRLE amscarﬂ
mwwm 2T 369,
WezNas.

(A) IR
(B) FuIex
©) Rendex
(D) Hexr

FRRCIRND,. 533 RN, TS 25. EcoRI 69 we 300@0RwmwE DNA
PRI ey DR, 5308, TOE3FORR, ROTHSR.
WIRWTOTE ARTTE AT, e (A) S'ACGAATTCAT?'
wif BT Ded. 3TGCTTAAGTAS'
A) mom (B) 3'ACGAATTCATS'
5TGCTTAAGTA3'
(B) & Ceerioe (C) STGCTTAAGTA3'
(€) O™ 3'ACGAATTCATS'
(D) S5TACTTAAGCA3'
(D) 2P, 3'ATGAATTCGTS'
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21. Identify the incorrect statement with % 10 cloting. yeclons, sfibiofic -resistapt
genes are helpful for
reference of Biocontrol agents :
: (A) Selection of recombinants
(A) They help to increase the use of (B) Cleaving of vector by REN
ransfer of forei ene to the
synthetic pesticides. (C) Transfer of foreign g th
(B) They do not affect non-target Bog
pests. (D) Making the host cells competent
(C) They do not show any negative
3 I 24. A student while extracting DNA from
e Aspergillus fungus requires
(D) They are significant in treating e CRENIE 65 ypak Dpc S
cell wall.
ecologically sensitive area.
(A) Lysozyme
(B) Chitinase
22. A Farmer has applied chemical (C) Cellulase
fertilisers in his crop field for many (D) Pectinase
successive seasons. In the next season,
the crop growth was poor as soil lost 25. Identify the DNA sequence which can
its fertility. Suggest the suitable micro- be cut using EcoRI.
organism that replenishes the fertility (A) S'ACGAATTCAT3'
of soil in his field. 3TGCTTAAGTAS'
(B) 3'ACGAATTCATS'
(A) Nostoc
S'TGCTTAAGTA3'
(B) Spirogyra (C) S5'TGCTTAAGTA3'
(C) Spinlina 3I'ACGAATTCATS'
(D) S'TACTTAAGCA3'
(D) Chlorella 3'ATGAATTCGTS'
Space For Rough Work
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29.

26. Bresdo TWORF DTS GOOKSS (capacity) Meechg, Jo5y Snen 3, wageos
(A) 650 ce 30T 800 ce =oc, S;3cdon) AR, IMONTY Jed,
1400 Rpedhmd  erd TN YLATITY,
T 2000308 &1 PRV BR0OmS. R0
(©) 1800cc 23000, UBIY, B FINI AR wried
(D) 900 cc T, 35000 GVTTEICIRTOYTS ?
(A) IgE
27. ooy, SHE BBwrL NG, (B) IgA
goBo¥ Fomy 8,TeON Foosty, THF e, (©) IgG
®acRN TIPS @ VNS il
%500 pompa gHre. 30, wy T Abed,  DdcbosE
(A) Deod, 8,3 DT Soxowod  deennvon  IowLImS,
(B) deod)eq3 dwox QoI XOTPFTEY B NS ona
©) %= % ST BROIRN dedenriogds 2
(D) Reg, dER € igh
(B) =Hooodod*
C) Rno'ys*
28. @ NSINVY, RN Heedodsy . T
—_— (D) Jdeess*
(A) SRFedodn o t,8e00tR-
ot ervossoniss doen 31.  GLUT-4 p,t3¢a'S sochrsesd ?
(B) 0o S tomd 8905000 (A) " SenRaetingsi A o-ipfiacy
Toroeddnt SomerOR.
ooz deent
C) HIV ob Roocts 2o¢ (B) wo3of neBoesn =g donn
© ot Red sR3T b s,
e % (C) 3ea5mon $O% INROIT.
D) ewor LOWD  GXROT,E
i i . (D) RpeoBsm0sny DA
chgs RoeTomIT.
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26.

27.

28.

The brain capacity of Homo habilis

(A) between 650 cc — 800 cc

(B) 1400 cc
(C) 1800cc
(D) 900 cc

In Bougainvillea and Cucurbita, the
axillary bud is modified into thorn and
tendril respectively. This is an example
of

(A) Divergent Evolution
(B) Convergent Evolution
(C) Co-evolution

(D) Micro Evolution

Identify the incorrect statement.

(A)

Pneumonia is a bacterial disease.

29.

30.

31.

A person shows symptoms like
Sneezing, Watery eyes, running nose
and difficulty in breathing, on exposure
to certain substances in air. Which type
of antibody is produced during such
condition ?

(A) IgE

(B) IgA

(C) IgG

(D) IgM

A man was suffering from mental
illness like depression and insomnia.
Identify the drug which is normally
used as medicine in such cases.

(A) Lysergic Acid Diethylamides (LSD)
(B) Heroin

©)
(D)

Morphine

Nicotine

What is the function of Protein
GLUT-4 ?

A) Enables glucose transport into
(B) Ringworm is a fungal disease. A) i ’ 55
cells.

© H.!V is transmitted by mosquito (B) Functions as intercellular ground

bite. substance.
(D) Cancer iS‘ a non-infectious (C) Acts as an enzyme.

disease. (D) Fights infectious agents.
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32. QFo A8 (Go) DY wedesrisd 4. 3 RoFRBoDY, BRI
(A) Q0038 amm Boe3d 3,030 swews ATP W@_’dﬁmmﬂ
(B)  tvmscdngsman X8,030menaacs (A) R ees’ Feod 37830000,
(C) oewnen W FTIT0ITTN (B) & etmaish Fosocormne we

TOSIF SRS ©TFINYY, Jon, BNTLIT.
(D)  evsmdcdnggmon daodmNcOZs (C) Tp eeTried ERETRTRI
030THNT STFITE,
-

33, WY,  dpexmozny ey st e
RooQRE0S B8 BN i, i Y i (D) Fp,etxaricd RyipT0R, 005
xioa.;soa’o S@iﬁm EOR. 03T FHTOD &ITBTE,

i 3 ReRedy, By PorornteoRed et
R, R godonso 3388,

i, w0 RBAI TODFEIY 35. Soodwd SLATOE 3,08003009,
adRomd POV 8,00y oy 8cdnaEtien
WHETRONTWIBI. weRdRomnR & 8,000, 145 e

. g% =W evmdod  80hHond SIHT* WIFCIRN 102 620 BOROT F

3 ) .
ReTwN LPNCIRNTEIeR. ui, @ odbndaterigd a5d RQ
SR, SeNTH3T

ROCIRT TePBRTay $od) In@.

(A) iR (A) 0.7

(B) i soiii (B) 1.0

(©) ixdRiii {C): 0.5

(D) iii =S, D) 1.4
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32.

33.

Cells in the quiescent stage (G;)

(A)
(B)
©
D)

show indefinite proliferation.
remain metabolically active
always become cancerous

remain metabolically inactive

Consider the following statements

i, ii and iii regarding criteria for

essentiality of the nutrients in plants :

i.

ii.

The presence of elements is must
for plants to complete their life
cycle.

The role of the element can be

34. During chemiosmotic synthesis of ATP

in photosynthesis :

(A)

(B)

©

D)

The proton gradient is not
required.

The protons accumulate within
the lumen of the thylakoids.

The protons accumulate in the
intermembrane space of
chloroplast.

The protons accumulate in the
intermembrane space of

mitochondrion.

replaced by another element. 35. When tripalmitin is used as respiratory

iii. The element must be directly substrate in aerobic respiration, the
involved in the metabolism of the process consumes 145 molecules of
plant. Oxygen and releases 102 molecules of

Choose the correct statement/s : CO,, then RQ value would be

(A) iandii (A) 0.7

(B) iiandiii (B) 1.0

(C) iandiii (©) 05

(D) iii only (D) 14
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36. 3 dvr deyos Supe Powwdd | 38, sESmod AR Iecdecssd, dod
33,3800 30000 T,3008 833 M TRRE I ORI X, I
QOT nOTHSATO aSoSasaigl NORTFS APOD WS TOPORNTS. &3
SnROFRS 30 T3 Ind. 8,00 BTE CUPBOHIRNG

— Retrovirus (A) umedJ%Q@iesa‘
(B) wodnegoiirydess®
< e ool (C) wodneBavRodes’
\I/ iral RNA
ﬂv (D) wodeear, el
_/L/ o
Viral DNA @
39. InTIT  FpeRSONG, X0, woos
(A) RNA mO=3ex
T, eLden’ Sowonen OO
(B) DNA &fiext
TodnredsIy X bdT  dedod
C) oIxr e, §,Jex*
0. HTIDNL SR 29 e LONRLGR). 28053
(D) OemooRIJex*
: (A) e T, XSeRTY, now,
WeRTAONRY), LS ORIT.

37. I eRFoohg ede TF I9 5 s
DI ENTR) S APROCT TR ? R L
(A) 0D SBZOVRE b

@
(B) 03,39 XoRGFS (C) aIne Fpetded® BBT X, T, b3~
(C) w930 JoFFS nYNo3 PPN,
(D) 3030 36w XosTrs (D) 2 Bud), FOOBOOR BRRT.
Space For Rough Work
Biology 16 A-1



36. Identify the enzyme that catalyses the 38. The oil content and quality of a
step labelled as ‘M’ i_n the given groundnut variety was improved by
Schematic representation of i } BN

; plant breeding technique. This is an
Replication of retrovirus.
example of
ik (A) Biomagnification
(B) Biofortification
@ Animal cell
\Iﬁwml RNA (C) Bioremediation
_/_/""l M (D) Biodegradation
Viral DNA @
(A) ~RNApolymesge 39, Microbes like Spirulina can be good
(B) DNA ligase alternate to the conventional sources
(C) Reverse transcriptase of proteins for human nutrition,
(D) Recombinase because ...
(A) they give more biomass in less

37. In animal breeding. the maximum time.

genetic variations can be achieved :
(B) they are produced using synthetic

through

y fertilisers.
(A) Outcrossing

i i different fr

(B Ciositatediniz (C) their proteins are different from

A plant proteins.
(C) Inbreeding
(D) Interspecific hybridization (0 Sy harve: Iggh- Hoee. conpend.
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40.

Consider the following morphological,

biochemical or physiological

characteristics of plants.
i.  Presence of hairy leaves.

ii.  Production of more nectar in

flower.
iii.  High sugar content in plant parts.

iv. Presence of higher aspartic acid

concentration.

Choose the correct combination of

41.

In the following diagrammatic

representation  showing stages of
embryonic development, identify the
type of growth phase labelled as

Mand N :

Biology

19

statements  which give natural
resistance to plants against insect (A) Both M and N are arithmetic
pests : phases.
: 3 (B) Both M and N are geometric
(A) iandii '
phases.
(B) iiandiii (C) M is geometric phase and N is
(©) ilisndiv arithmetic phase.
" (D) M is arithmetic phase and N is
(D) iandiv 4
geometric phase.
Space For Rough Work
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42.

43.
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42. Indigestion of fats in humans may be 44. In blind spot of the human eye
an indication of (A) Only cones are absent.
(A) Under-secretion of saliva
(B) Only rods are absent.
(B) Under-secretion of amylopsin
(C) Intestinal ulcers (C) Both cones and rods are absent.
(D) Inflammation of liver
(D) Both cones and rods are present.
43. Choose the correct statement from the
following : 45. A boy after attaining sexual maturity
(A) Histamine, Serotonin and il il grositlc -aioail 48
Heparin are secreted by
facial and axillary hair, aggressiveness
basophils. i i
B) Person with blood group AB can and low pitch of voice. These changes
donate blood to person with are attributed to hormone.
blood group A.
(A) Testosterone
(C) Erythroblastosis foetalis may
result when foetus is Rh~v¢ and (B) Glucagon
mother is Rh*ve
(C) Estrogen
(D) Atherosclerosis is often referred
as anginapectoris. (D) Secretin
Space For Rough Work
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(A) 98.7%
(D) deFer seednetndotn B) 37.2%
(C) 62.8%
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A @
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BRRODFCIR) RAURYTS ?
(A) XX-XY (A) :O
(B) ZZ-ZW (B) —O
(C) XX-XO ©) =<0
D) XX-XXY (D) O
Space For Rough Work
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46. Identify the odd one among the 48. In Morgan’s experiment with

Drosophila, when yellow bodied white

follmwing disardens eyed female was crossed with brown

bodied red eyed male and their F,

A) Sickle-cell Anaemia
@) progeny were intercrossed. What was

the percentage of recombinants in F,

(B) Thalassemia _
generation ?
(C) Haemophilia (A) 98.7%
B) 37.2%
(D) Phenyl Ketonuria
(C) 62.8%
D) 1.3%

47. From the Chromosomal Complements
49. In the following symbols, used in

given below, identify the one which human pedigree Analysis, identify the
- symbol that denotes consanguineous
shows female heterogamety. g
(A) XX-XY
(A) :O
B) ZZ-ZW
R e,
C) XX-XO
XX - XXY
Space For Rough Work
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50.

51.

52.
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50.

51.

52.

Which of the following Nitrogen bases
is found only in DNA ?

(A) Adenine
(B) Guanine
(C) Cytosine

(D) Thymine

The nourishing cells in the

Seminiferous tubules are
(A) Leydig cells

(B) Spermatogonial cells
(C) Follicular cells

(D) Sertoli cells

If in a normal Menstruating woman,
menses occur on 5™ April, what will be

the expected date of Ovulation ?
(A) 18" April
(B) 14" April
(C) 10" April

(D) 29" April

53. [Identify the cells represents as P, Q, R

and S in the given schematic
representation of spermatogenesis.

Spermatogonia

Ve

L

(A) + P — Primary Spermatocyte

Q — Secondary Spermatocyte
R — Spermatids
S — Spermatozoa
(B) P - Secondary Spermatocyte
Q — Primary Spermatocyte
R — Spermatozoa
S — Spermatids
(C) P —Spermatozoa
Q — Spermatids
R — Secondary Spermatocyte
S — Primary Spermatocyte
(D) P — Secondary Spermatocyte
Q — Spermatids
R — Spermatozoa

S — Primary Spermatocyte
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54. The method of natural contraception 56. Plants like Marchantia and Funaria
which requires correct knowledge of produce gametes by mitosis, because
Menstrual cycle is (A) Plant body is haploid.

(A) Lactational Amenorrhoea (B) Gametophyte is diploid.
(B) Coitus interrupts (C) They are gametophytes.
(C) Periodic Abstinence (D) They are dioecious.
(D) IUDs — Intrauterine Devices
57. Identify the asexual reproductive

55. A childless couple visit Assisted structure ‘M’ in the following
Reproductive Technologies (ARTSs) diagram :
centre to get assistance to have a child.

On diagnosis, it was noticed that there

was low sperm count in the male

partner. Which of the following

strategy of ART is most suitable in this

case ?

(A) Artificial Insemination (Al)

(B) In vitro Fertilisation (IVF)

(C) Gamete Intra-Fallopian Transfer (A) Bud
(GIFT) (B) Conidium

(D) Zygote Intra-Fallopian Transfer (C) Zoospore
(ZIFT) (D) Gemmule

Space For Rough Work
Biology A-1




58, 4o R, 19Q, Bowman, T3y RS ied
B8 ReDRY, R IS,
Q0 FTED
(A) = Bpeod ToNBFE RO
SRAEARIS.

(B) b Tosecd Toonksrg oD
SRRRARIS.

(©) B> ToNRIFTTIRIRY
BAFRO3T.

(D) = Toseod TONNBBFBIY
Sedctosds. |

59. T3IRe  gID  Foso Wemne'R)
BRoBBAHITNTOT 00 adees
OINGY, [0k wqas TOLTROCIRNS.
8 IFODI T IeBEe B FINI
CdRE TRrtpeF TR, WYRWTOT ?
(A) eﬁpeaoq_su‘ VemNIS), LOFDOROHTO
(B) eQaes Fone 0'033‘}3?5
(C) =RoFea3 wewnd wod

(D) Xow,m00008 I3, IVeBTED

60. = NI I8 ZosT ai%&dbq, Rolebrn]

TOINY TOCIRT §,:0SFIY, NOTOSK.

(A)

(B)

©)

(D)

dewR, Nore —> %36 a:‘oarin;&r —

uadnon‘ — TPOHTLeIRRATROE

NN’ —> 8§38 Jooriigr —

demhor —> PO LS -

Rexbod

q)ss aicamuzsr — FohILes-

nReHE —> Oezaaﬂnon‘ —

mﬁnon‘

TR LIRAPHIT —> 23, Norv

— 1535 aScarWUSF —> Oemsnozf

Space For Rough Work

Biology

28




58. In some plants, stigma and anther 60. Identify the correct order of steps
mateie &t dutfetentBnieg heciuse involved in Artificial hybridization in
(A) it facilitates self pollination. g
(B) it facilitates cross pollination.
(A) Rebagging — Artificial
(C) it attracts pollinators.
' pollination — Bagging —
(D) it prevents cross pollination.
Emasculation
59. Now-a-days agricultural practice is (B) Bagging — Adtificial pollination
expensive to the farmers as they need —» Rebagging — Emasculation
to purchase hybrid seeds every year.
Which of the following strategies can (©) Artificial pollination 5
be employed to overcome this Emasculation —> Rebagging —
problem ?
Bagging
(A) Production of Apomictic seeds
(D) Emasculation — Bagging —
(B) Parthenocarpy
Artificial pollination >
(C) Synthetic seeds -
’ : Rebagging
(D) Conventional plant breeding
Space For Rough Work
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